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Consider the following
statements:

1. Aadhaar card can be
used as a proof of
citizenship or domicile.

2. Once issued, Aadhaar
number cannot be
deactivated or omitted
by the Issuing
Authority.

Which of the statements
given above is/are correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

With reference to ‘Indian
Ocean Dipole (IOD)’
sometimes mentioned in the
news while forecasting Indian
monsoon, which of the
following statements is/are
correct?

1. IOD phenomenon
characterised by a differe
in sea surface temperat
between tropical West
Indian Ocean and trop
Eastern Pacific Ocean.

[[crackingiasbooks.com/

2. An IOD phenomenon
can influence an EIl
Nino’s impact on the
monsoon.

Select the correct answer
using the code given below:
(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following
statements:
1. As per recent

amendment to the
Indian Forest Act, 1927,
forest dwellers have the
right to fell the bamboos
grown on forest areas.

2. As per the Scheduled
Tribes and Other
Traditional Forest
Dwellers (Recognition of
Forest Rights) Act,
2006, bamboo is a
minor forest produce.

3. The Scheduled Tribes
and Other Traditional
Forest Dwellers
(Recognition of Forest
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Rights) Act, 2006 allows
ownership of minor
forest produce to forest
dwellers.

Which of the statements

given above is/are correct?
(@) 1 and 2 only

(b) 2 and 3 only
(c) 3 only

(d) 1,2 and 3

Consider the following
statements in respect of the
Laureus World Sports Award
which was instituted in the
year 2000:

1. American golfer Tiger
Woods was the first
winner of this award.

2. The award was received
mostly by ‘Formula
One’ players so far.

3. Roger Federer received
this award maximum
number of times
compared to others.

Which of the above

/liasgoogle.com/
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statements are correct?
(@) 1 and 2 only

(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

Consider the following
statements in respect of the
32nd Summer Olympics:

1. The official motto for
this Olympics is ‘A New
World’.

2. Sport Climbing,
Surfing, Skateboarding,
Karate and Baseball are
included in this
Olympics.

Which of the above
statements is/are correct?
(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following in
respect of Indian Ocean Naval

[/lcrackingias.com/
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Symposium (IONS).

1. Inaugural IONS was
held in India in 2015

under the
chairmanship of the
Indian Navy.

2. IONS is a voluntary
initiative that seeks to
increase maritime co-
operation among navies
of the littoral states of
the Indian Ocean
Region.

Which of the above
statements is/are correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following
countries:

1. Denmark

2. Japan

3. Russian Federation

4. United Kingdom

5. United States of

America

Which of the above are the

/liasgoogle.com/
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members of the ‘Arctic
Council?
(@) 1,2 and 3

(b) 2, 3 and 4
(¢ 1,4 and 5

(d) 1, 3and 5

With  reference to the
institution of Banking
Ombudsman in India, which
one of the statements is not
correct?

(@) The Banking Ombudsman is

appointed by the Reserve Bank

of India

(b) The Banking Ombudsman
can consider complaints from
Non-Resident Indians having

accounts in India

() The orders passed by the
Banking Ombudsman are final
and binding on the parties

concerned

(d) The service provided by the
Banking Ombudsman is free of

any fee

On which one of the following

[/lcrackingias.com/
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rivers is the Tehri Hydropower
Complex located?
(a) Alaknanda

(b) Bhagirathi
(c) Dhauliganga

(d) Mandakini

12.

(d) Ministry of Tribal Affairs

With  reference to  the
Agreement at the UNFCCC
Meeting in Paris in 2015,
which  of the
statements is/are correct?

following

1. The Agreement was
signed by all the

10.  Where are Tapovan member countries of
Vishnugad Hydropower Plant the UN and it will go
located? into effect in 2017.

2. The Agreement aims to
(8) Madhya Pradesh limit the greenhouse
(b) Uttar Pradesh gas erpissiqns so that
the rise in average
(c) Uttarakhand global temperature by
the end of this century
(d) Rajasthan does not exceed 2°C or
even 1.5°C above pre-

industrial levels.
) ) 3. Developed countries

11. At the national level, which

/liasgoogle.com/

ministry is the nodal agency
to ensure effective
implementation of the
Scheduled Tribes and Other
Traditional Forest Dwellers
(Recognition of Forest Rights)
Act, 20067

(@) Ministry of Environment,
Forest and Climate Change

(b) Ministry of Panchayati Raj

(c) Ministry of Rural

Development

[[crackingiasbooks.com/

acknowledged their
historical responsibility
in global warming and
committed to donate $
1000 billion a year from
2020 to help developing
countries to cope with
climate change.

Select the correct answer
using the code given below:
(@) 1 and 3 only

[/lcrackingias.com/
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(b) 2 only
(c) 2 and 3 only

(d) 1,2 and 3

Consider the
statements:

following

1. As per the Right to
Education (RTE) Act, to
be eligible for
appointment as a
teacher in a State, a
person would be
required to possess the
minimum qualification
laid down by the

concerned State
Council of Teacher
Education.

2. As per the RTE Act, for
teaching primary

classes, a candidate is
required to pass a
Teacher Eligibility Test
conducted in
accordance with the

National Council of
Teacher Education
guidelines.

3. In India, more than 90%
of teacher education
institutions are directly
under the State
Governments.

14.

15.

[[crackingiasbooks.com/

Which of the statements given
above is/are correct?
(@) 1 and 2

(b) 2 only
(c) 1 and 3

(d) 3 only

Which Article of the
Constitution of India

safeguards one’s right to
marry the person of one’s
choice?

(a) Article 19
(b) Article 21
(c) Article 25

(d) Article 29

In the context of which of the
following do some scientists
suggest the wuse of cirrus
cloud thinning technique and
the injection of sulphate
aerosol into stratosphere?

(a) Creating the artificial rains in

some regions

(b) Reducing the frequency and

intensity of tropical cyclones
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(c) Reducing the adverse effects

of solar wind on the Earth

(d) Reducing the global warming

Which one of the following
issues the ‘Global Economic
Prospects’ report periodically?
(a) The Asian Development Bank

(b) The European Bank for
Reconstruction and
Development

(c) The US Federal Reserve Bank
(d) The World Bank

The Global
Facility is a/an

Infrastructure

(a) ASEAN initiative to upgrade
infrastructure in Asia and
financed by credit from the

Asian Development Bank.

(b) World Bank collaboration
that facilitates the preparation
and structuring of complex
Public-Private
Partnerships (PPPs) to enable

infrastructure

mobilization of private sector
and institutional investor

capital.

() Collaboration among the

18.

[[crackingiasbooks.com/

major banks of the world
working with the OECD and
focused on expanding the set of
infrastructure projects that have
the potential to mobilize private

investment.

(d) UNCTAD funded initiative
that seeks to finance and
facilitate infrastructure

development in the world.

With reference to TFC Masala
Bonds’, sometimes seen in the
news, which of the statements
given below is/ are correct?

1. The International
Finance  Corporation,
which offers these
bonds, is an arm of the
World Bank.

2. They are the rupee-
denominated bonds

and are a source of debt
financing for the public
and private sector.

Select the correct answer
using the code given below:
(@) 1 only

(b) 2 only
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(c) Both 1 and 2

(d) Neither 1 nor 2

19. Among the following, which
one lays eggs and does not
produce young ones directly?
(a) Echidna

(b) Kangaroo
(c) Porcupine

(d) Whale

20. Which one of the following
statements is not correct?
(@) Hepatitis B
transmitted much like HIV.

virus  is

(b) Hepatitis B unlike Hepatitis

C, does not have a vaccine.

(c) Globally, the number of
people infected with Hepatitis B
and C viruses are several times
more than those infected with
HIV.

(d) Some of those infected with
Hepatitis B and C viruses do not
show the symptoms for many

years.

/liasgoogle.com/

21.

22.

23.

[[crackingiasbooks.com/

Which of the
diseases can be transmitted

following

from one person to another
through tattooing?

1. Chikungunya
2. Hepatitis B
3. HIV-AIDS

Select the correct answer
using the codes given below:
(@) 1 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d)1,2and 3

Among the following
Presidents of India, who was
also the Secretary General of
Non-Aligned Movement for
some period?
(a) Dr.

Radhakrishnan

Sarvepalli

(b) Varahagiri Venkatagiri
(c) Giani Zail Singh

(d) Dr. Shanker Dayal Sharma

Consider the
statements:

following

[/lcrackingias.com/
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1. In India, State
Governments do not
have the power to

auction non-coal mines.
2. Andhra Pradesh and
Jharkhand do not have
gold mines.
3. Rajasthan has iron ore
mines.

Which of the statements
given above is/are correct?
(@) 1 and 2 only

(b) 2 only
(c) 1 and 3 only

(d) 3 only

In which one of the following
groups are all the four
countries members of G20?

(a) Argentina, Mexico, South

Africa and Turkey

(b) Australia, Canada, Malaysia

and New Zealand

(c) Brazil, Iran, Saudi Arabia and

Vietnam

(d) Indonesia, Japan, Singapore

and South Korea

25.

[[crackingiasbooks.com/

With reference to ‘Initiative for
Nutritional Security through
Intensive Millets Promotion’,
which  of the
statements is/are correct?

following

1. This initiative aims to
demonstrate the
improved  production
and post-harvest
technologies, and to
demonstrate value
addition techniques, in
anc integrated manner,
with cluster approach.

2. Poor, small, marginal
and tribal farmers have
larger stake in this
scheme.

3. An important objective
of the scheme is to
encourage farmers of
commercial crops to
shift to millet
cultivation by offering
them free kits of critical
inputs of nutrients and
micro irrigation
Equipment.

Select the correct answer
using the code given below:
(@) 1 only

(b) 2 and 3 only
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(¢) 1 and 2 only

(d) 1,2 and 3

With reference to Pradhan
Mantri Kaushal Vikas Yojana,
consider the following

statements:

1. Itis the flagship scheme

of the Ministry of
Labour and
Employment.

2. It, among other things,
will also impart training

in soft skills,
entrepreneurship,
financial and digital

literacy.

3. It aims to align the
competencies of the
unregulated workforce
of the country to the
National Skill
Qualification
Framework.

Which of the statements
given above is/are correct?
(@) 1 and 3 only

(b) 2 only
(c) 2 and 3 only
(d) 1,2 and 3

27.

28.

[[crackingiasbooks.com/

‘Recognition of Prior Learning
Scheme’ is sometimes
mentioned in the news with
reference to

(a) Certifying the skills acquired
by construction workers

through traditional channels.

(b) Enrolling the persons in
Universities for distance

learning programmes.

(c) Reserving some skilled jobs to
rural and urban poor in some

public sector undertakings.

(d) Certifying the skills acquired
by trainees under the National

Skill Development Programme.

Consider the following pairs:
Community sometimes in the
affairs of mentioned in the
news

1. Kurd — Bangladesh
2. Madhesi — Nepal
3. Rohingya — Myanmar

Which of the pairs given above
is/are correctly matched?
(@) 1 and 2
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*DAJASIR’s

Cracking IAS Academy
Since 2005 - Feel The Pulse of UPSC


https://iasgoogle.com/
https://crackingiasbooks.com/
https://crackingias.com/

IAS GOOGLE

Redefining your Google

MONTHLY QUIZ

Led by Raja Sir's Cracking IAS

29.

30.

/liasgoogle.com/

OCTOBER 2022

(b) 2 only

(c) 2 and 3

(d) 3 only

With reference to Indian
economy, consider the

following statements:

1. The rate of growth of
Real Gross Domestic
Product has steadily
increased in the last

decade.
2. The Gross Domestic
Product at market

prices (in rupees) has
steadily increased in the
last decade.

Which of the statements
given above is/are correct?
(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Rowlatt
which of the
following statements is/are

Satyagraha,

[[crackingiasbooks.com/

31.

correct?

1. The Rowlatt Act was
based on the
recommendations of the
‘Sedition Committee’.

2. In Rowlatt Satyagraha,
Gandhiji tried to utilize
the Home Rule League.

3. Demonstrations against
the arrival of Simon
Commission coincided
with Rowlatt
Satyagraha.

Select the correct answer
using the code given below:
(@) 1 only

(b) 1 and 2 only
(c) 2 and 3 only

(d) 1,2 and 3

With reference to bio-toilets
used by the Indian Railways,

consider the following

statements:

1. The decomposition of
human waste in the
biotoilets is initiated by
a fungal inoculum.

2. Ammonia and water
vapour are the only end

10
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products in this
decomposition  which
are released into the
atmosphere.

Which of the statements
given above is/are correct?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following
phenomena:
1. Light is affected by
gravity.
2. The Universe is
constantly expanding.
3. Matter warps its
surrounding space-
time.

Which of the above is/are
the prediction/predictions of
Albert
Theory of Relativity,

Einstein’s General
often
discussed in media?

(@) 1 and 2 only

(b) 3 only

/liasgoogle.com/
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33.

34.

(¢) 1 and 3 only

(d)1,2and 3

With
history, which of the following

reference to Indian

statements is/are correct?

1. The Nizamat of Arcot
emerged out of
Hyderabad State.

2. The Mysore Kingdom
emerged out of
Vijayanagara Empire.

3. Rohilkhand Kingdom
was formed out of the
territories occupied by
Ahmad Shah Durrani.

Select the correct answer

using the code given below:
(@) 1 and 2

(b) 2 only
(c) 2 and 3

(d) 3 only

What does venture capital
mean?
(a) A short-term capital provided

to industries

11
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(b) A long-term start-up capital

provided to new entrepreneurs

(c) Funds provided to industries

at times of incurring losses

(d) Funds

replacement and renovation of

provided for

industries

The terms ‘WannaCry, Petya
and EternalBlue’ are related
to

(a) Exoplanets

(b) Cryptocurrency
(c) Cyber-attacks

(d) Mini satellites

Which of the
statements regarding ‘Green

following

Climate Fund’ is/are correct?

1. It is intended to assist
the developing
countries in adaptation
and mitigation practices
to counter climate
change.

2. It is founded under the
aegis of UNEP, OECD,
Asian Development

/liasgoogle.com/
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Bank and World Bank.

Select the correct answer
using the code given below:
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

In the
Cooperation, an initiative of

Mekong-Ganga

six countries, which of the

following is/are not a

participant/ participants?

Bangladesh
Cambodia
China
Myanmar
Thailand

akwhPE

Select the correct answer
using the code given below:
(@) 1 only

(b) 2, 3 and 4
() 1 and 3

(d 1,2 and 5

12
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Consider the following
statements:

1. 21st February is
declared to be the
International Mother
Language Day by
UNICEF.

2. The demand that

Bangla has to be one of
the national languages
was raised in the
Constituent Assembly
of Pakistan.

Which of the
statements is/are correct?

above

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Why is there a concern about
copper smelting plants?

1. They may release lethal
quantities of carbon
monoxide into
environment.

2. The copper slag can
cause the leaching of
some heavy metals into
environment.

3. They may release

40.

[[crackingiasbooks.com/

sulphur dioxide as a
pollutant.

Select the correct answer
using the code given below.
(@) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

With reference to furnace oil,
consider the following

statements:

1. It is a product of oil
refineries.

2. Some industries use it
to generate power.

3. Its use causes sulphur
emissions into
environment.

Which of the statements
given above are correct?
(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

13
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(d) 1,2 and 3

1. Which of the following
characterizes/characterize

the
Civilization?

people of Indus

1. They possessed great
palaces and temples.

2. They worshipped both
male and female deities.

3. They employed horse-
drawn chariots in warfare.

Select the

statement/statements using

correct

the codes given below:
(@) 1 and 2 only

(b) 2 only
() 1,2 and 3
(d) None of the statements given

above is correct

Which of the following are the
reasons for the occurrence of
multi-drug  resistance in
microbial pathogens in India?

1. Genetic predisposition
of some people

2. Taking incorrect doses
of antibiotics to cure diseases

3. Using antibiotics in
livestock farming

/liasgoogle.com/

43.

44.

[[crackingiasbooks.com/

4. Multiple chronic

diseases in some people

Select the correct answer

using the code given below.
(@) 1 and 2

(b) 2 and 3 only
(¢ 1,3 and 4

(d) 2,3 and 4

During the Indian Freedom
Struggle, who of the following
raised an army called ‘Free
Indian Legion’?
(a) Lala Hardayal

(b) Rashbehari Bose
(c) Subhas Chandra Bose

(d) V.D. Savarkar

Consider the following events
in the history of India:

1. Rise of Pratiharas
under King Bhoja
2. Establishment of

Pallava power under
Mahendravarman-I

3. Establishment of Chola
power by Parantaka-I

4. Pala dynasty founded

14
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by Gopala

What is the correct
order of the
above events, starting from

chronological
the earliest time?
@2-1-4-3
(b)3-1-4-2
c)2-4-1-3

(d)3-4-1-2

Which one of the following is
the context in which the term
"qubit" is mentioned?

(a) Cloud Services

(b) Quantum Computing

(c) Visible Light Communication

Technologies

(d) Wireless

Technologies

Communication

Consider the

statements:

following

1. Some species of turtles
are herbivores.

2. Some species of fish are
herbivores.

47.

[[crackingiasbooks.com/

3. Some species of marine
mammals are
herbivores.

4. Some species of snakes
are viviparous.

Which of the statements
given above are correct?
(@) 1 and 3 only
(b) 2, 3 and 4 only
(c) 2 and 4 only
(d) 1,2,3 and 4

The Multi-dimensional
Poverty Index developed by
Oxford Poverty and Human
Development Initiative with
UNDP support covers which
of the following?

1. Deprivation of
education, health,
assets and services at
household level

2. Purchasing power
parity at national level

3. Extent of budget deficit
and GDP growth rate at
national level

Select the correct answer
using the codes given below:

15
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(@) 1 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

In India, it is legally
mandatory for which of the
following to report on cyber

security incidents?

1. Service providers
2. Data centres
3. Body corporate

Select the correct answer
using the code given below:
(@) 1 only

(b) 1 and 2 only
(c) 3 only
(d) 1,2 and 3

Disguised unemployment

generally means
(a) large number of people

remain unemployed

(b) alternative employment is not

50.

51.

52.

[[crackingiasbooks.com/

available

(c) marginal productivity of

labour is zero

(d) productivity of workers is low

Hydrogen fuel cell vehicles
produce one of the following

as “exhaust”
(a) NH3

(b) CH4
(c) H20

(d) H202

Atal Innovation Mission is set
up under the
(a) Department of Science and

Technology

(b) Ministry of Labour and
Employment

(c) NITI Aayog

(d) Ministry of Skill Development

and Entrepreneurship

Regarding Wood’s Dispatch,

which of the following
statements are true?
1. Grants-in-Aid system

was introduced.

16

[/lcrackingias.com/

*DAJASIR’s

Cracking IAS Academy
Since 2005 - Feel The Pulse of UPSC


https://iasgoogle.com/
https://crackingiasbooks.com/
https://crackingias.com/

IAS GOOGLE MONTHLY QUIZ = AJA SIR’s

ini Cracking IAS Academy
o R B s OCTOBER 2022 e 255 b 12
2. Establishment of (b) 2 and 3 only
universities was
recommended. (c) 1 and 3 only
3. English as a medium of
instruction at all levels (d) 1,2 and 3
of education was
recommended.
54. India enacted the
Geographical Indications of
Goods  (Registration and
Select the correct answer Protection) Act, 1999 in order
using the code given below: to comply with the obligations
(@) 1 and 2 only to
(b) 2 and 3 only (2) ILO
(c) 1 and 3 only (b) IMF
(d) 1,2 and 3 (c) UNCTAD
(d) WTO

53. Which of the following

has/have been accorded 55. Among the following, which
‘Geographical Indication’ one is the largest exporter of
status? rice in the world in the last

1. Banaras Brocades and five years?

Sarees () China
2. Rajasthani Daal-Bati- ,
Churma (b) India

3. Tirupathi Laddu
(c) Myanmar

(d) Vietnam
Select the correct answer

using the code given below: 56. Under the Kisan Credit Card
(a) 1 only scheme, short-term credit

17
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support is given to farmers for
which  of the
purposes? (2020)

following

1. Working capital for
maintenance of farm
assets

2. Purchase of combine
harvesters, tractors and
mini trucks

and New Zealand

(c) Brazil, Iran, Saudi Arabia and

Vietnam

(d) Indonesia, Japan, Singapore

and South Korea

3. Consumption 58. Cas9 protein is
requirements of farm (@) A molecular scissors used in
households targeted gene editing
4. Post-harvest expenses
5. Construction of family (b) A biosensor used in the
house and setting up of accurate detection of pathogens
village cold storage . .
facility In patients
(c) A gene that makes plants
pest-resistant
Select the correct answer (d) A Therbicidal substance
using the code given below: synthesized in  genetically
(@) 1, 2 and 5 only modified crops
(b) 1, 3 and 4 only
() 2, 3,4 and 5 only
(d) 1,2,3,4and5 59. A present group of nations

In which one of the following
groups are all the four
countries members of G20?

known as G-8 started first as
G-7. Which one among the
following was not one of
them?

(a) Canada
(a) Argentina, Mexico, South
Africa and Turkey (b) Italy
(b) Australia, Canada, Malaysia (c) Japan

[[crackingiasbooks.com/
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(d) Russia (d) 2 and 3

60. Consider the following 61. Consider the following pairs:

statements: Tribe State

1. In India, there is no law

restricting the 1 Limbo Sikkim
candidates from o
contesting in one Lok (Limb
Sabha election from
. . u)

three constituencies.

2. In the 1991 Lok Sabha
Election, Shri Devi Lal 2 Karbi Himac
contested from three . hal
Lok Sabha Prades
constituencies. h

3. As per the existing
rules, if a candidate
contests in one Lok 3 Donga Odisha
Sabha election from - Ia
many  constituencies, Kondh

his/her party should
bear the cost of bye-

elections to the 4 Bonda Tamil

constituencies vacated Nadu
by him/her winning in
all the constituencies. Which of the above pairs are

correctly matched?
(@) 1 and 3 only

(b) 2 and 4 only
Which of the statements (c) 1, 3 and 4 only
(

given above is/are correct? d 1,2, 3and4

(@) 1 only
(b) 2 only 62. Which one of the following
(c) 1 and 3 groups of plants was

domesticated in the ‘New

19
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World’ and introduced into
the ‘Old World’?
(a) Tobacco, cocoa and rubber

(b) Tobacco, cotton and rubber
(c) Cotton, coffee and sugarcane

(d) Rubber, coffee and wheat

‘Gadgil Committee Report’
and ‘Kasturirangan
Committee Report’,

sometimes seen in the news,
are related to

(a) constitutional reforms
(b) Ganga Action Plan
(c) linking of rivers

(d) protection of Western Ghats

Magnetite particles,

suspected to cause
neurodegenerative problems,
are generated as
environmental pollutants

from which of the following?

1. Brakes of motor
vehicles

2. Engines of motor
vehicles

3. Microwave stoves

within homes

65.

[[crackingiasbooks.com/

4. Power plants
5. Telephone lines

Select the correct answer
using the code given below.
(@) 1, 2, 3 and 5 only

(b) 1, 2 and 4 only
(c) 3, 4 and 5 only

(d)1,2,3,4and 5

Consider the following
statements:
1. The Global Ocean
Commission grants
licences for seabed

exploration and mining
in international waters.

2. India  has received
licences for seabed
mineral exploration in
international waters.

3. Rare earth minerals’
are present on the
seafloor in international
waters.

Which of the statements
given above are correct?
(a) 1 and 2 only
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(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

66. India is regarded as a country
with “Demographic Dividend”.
This is due to
(a) Its high population in the age
group below 15 years
(b) Its high population in the age
group of 15-64 years
(c) Its high population in the age
group above 65 years

(d) Its high total population

67. With reference to ‘Pradhan
Mantri Fasal Bima Yojana’,

consider the following
statements:
1. Under this scheme,

farmers will have to pay
a uniform premium of
two percent for any crop
they cultivate in any
season of the year.

2. This scheme covers
post-harvest losses
arising out of cyclones
and unseasonal rains.

/liasgoogle.com/

68.

69.

[[crackingiasbooks.com/

Which of the statements
given above is/are correct?
(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to ‘Financial
Stability and Development
Council’, consider the

following statements:

1. It is an organ of NITI
Aayog.

2. It is headed by the
Union Finance Minister.

3. It monitors macro-
prudential supervision
of the economy.

Which of the statements
given above is/are correct?
(@) 1 and 2 only

(b) 3 only
(c) 2 and 3 only

(d1,2and 3

How does the National Rural

21
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Livelihood Mission seek to 2. More than one-third of
. . . . 2
improve livelihood options of the world’s coral reefs

are located in the

rural poor? .. i
p territories of Australia,

1. By setting up a large Indonesia and
number of new Philippines.
manufacturing 3. Coral reefs host far
industries and more animal phyla than
agribusiness centres in those hosted by tropical
rural areas rainforests.

2. By strengthening ‘self-
help groups’ and
providing skill
development

3. By supplying seeds,
fertilizers, diesel pump-
sets and micro- (a) 1 and 2 only
irrigation equipment
free of cost to farmers

Which of the statements
given above is/are correct?

(b) 3 only

(c) 1 and 3 only

(d)1,2and 3
Select the correct answer
using the codes given below:
(a) 1 and 2 only 71. Consider the following:
(b) 2 only 1. Black-necked crane
2. Cheetah
(c) 1 and 3 only 3. Flying squirrel
4. Snow leopard
(d) 1,2 and 3
statements: naturally found in India?

1. Most of the world’s coral (@) 1, 2 and 3 only
reefs are in tropical (b) 1, 3 and 4 only

waters. (c) 2 and 4 only
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(d) 1, 2,3 and 4

Consider the following

countries:

Australia
Canada
China
India
Japan
USA

2 e o

Which of the above are among
the ‘“ree-trade partners’ of
ASEAN?

(@ 1,2,4and 5

(b) 3,4, 5 and 6
(©1,3,4and 5

(d) 2, 3,4 and 6

In the
Cooperation, an initiative of

Mekong-Ganga

six countries, which of the

following is/are not a

participant/ participants?

Bangladesh
Cambodia
China
Myanmar

PwbdPR

/liasgoogle.com/
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74.

75.

5. Thailand

Select the correct answer
using the code given below:
(@) 1 only

(b) 2, 3 and 4
(c) 1 and 3

(d) 1,2 and 5

Which one of the following is
associated with the issue of
control and phasing out of the
use of ozone depleting
substances?

(a) Bretton Woods Conference
(b) Montreal Protocol
(c) Kyoto Protocol

(d) Nagoya Protocol

Consider the following pairs:

Craft Herita

ge of

1 Puthuk Tamil
kuli Nadu
shawls

23
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2 Sujni Mahar monsoon.
. embroi ashtra
dery

3 Uppad Karna Select the correct answer

a taka using the code given below:
Jamda  saris (@) 1 only
ni b) 2 only

(
) ) ) (c) Both 1 and 2
Which of the pairs given (

d) Neither 1 nor 2
above is/are correct? )

(@) 1 only

77. The plan of Sir Stafford Cripps
envisaged that after the

(c) 3 only Second World War

(a) India should be granted

(b) 1 and 2

(d) 2 and 3 .

complete independence

(b) India should be partitioned
Ocean Dipole (IOD)’ independence

sometimes mentioned in the

news while forecasting Indian (c) India should be made a

following statements is/are she will join the Commonwealth
correct?

(d) India should be given

1. IOD phenomenon is Dominion status
characterised by a
difference in sea surface
temperature between
tropical Western Indian
Ocean and tropical statements:
Eastern Pacific Ocean.

2. An IOD phenomenon
can influence an EIl
Nino’s impact on the

78. Consider the following

1. The Commonwealth has
no charter, treaty or
constitution.

24
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2. All the
territories /countries
once under the British

released into atmosphere by

crop fields.

empire (d) It is a combination of a
(jurisdiction/rule/ man weedicide and a fertilizer for
date) automatically
joined the particular crops.
Commonwealth as its
members.

80. Consider the following

statements:
1. The Election

Which of the statements
given above is/are correct?

Commission of India is
a five-member body.

(a) 1 only 2. Union Ministry of Home
Affairs decides the
(b) 2 only election schedule for

(c) Both 1 and 2

(d) Neither 1 nor 2

the conduct of both
general elections and
bye-elections.

3. Election @ Commission
resolves the disputes
relating to

Why does the Government of splits/mergers of
India promote the wuse of recognised political
‘Neem-coated Urea’ in parties.

agriculture?
(a) Release of Neem oil in the soil

increases nitrogen fixation by

the soil microorganisms.

(b) Neem coating slows down the
rate of dissolution of urea in the

soil.

() Nitrous oxide, which is a

greenhouse gas, is not at all

[[crackingiasbooks.com/

Which of the statements
given above is/are correct?
(@) 1 and 2 only

(b) 2 only
(c) 2 and 3 only

(d) 3 only
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by the Government of

81. With reference to “Blockchain 9 Ionrii;a. of the tasks of
Technology”, consider the PNGRB is to ensure
following statements: competitive markets for

as.

1. It is a public ledger that 3. ippeals against the
everyone can inspect, decisions of PNGRB go
but which no single before the Appellate
user controls. Tribunals for

2. The structure and Electricity.
design of blockchain is
such that all the data in
it are about
cryptocurrency only.

3. Algglications Y ythat Which of the statements
depend on basic given above are correct?
features of blockchain (@) 1 and 2 only
can be developed
without anybody’s (b) 2 and 3 only
permission.

(¢) 1 and 3 only
(d) 1,2 and 3

Which of the statements
given above is/are correct? 83. Which one of the following is
(@) 1 only

(b) 1 and 2 only

a purpose of ‘UDAY’, a scheme
of the Government?
(c) 2 only (a) Providing technical and

(d) 1 and 3 only financial assistance to start-up

entrepreneurs in the field of

82. Consider the following renewable sources of energy
statements: (b) Providing electricity to every
1. Petroleum and Natural household in the country by
Gas Regulatory Board 2018

(PNGRB) is the first
regulatory body set up

26
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(c) Replacing the coal-based health care and education of
power plants with natural gas, rural and wurban poor, and
nuclear, solar, wind and tidal organizing skill development
power plants over a period of programmes and vocational
time training for them.

(d) Providing for financial

turnaround and revival of power 85. Which of the following is not a

distribution companies member of ‘Gulf Cooperation

Council ?
(@) Iran
84. What is the aim of the
programme ‘Unnat Bharat (b) Saudi Arabia
. "
Abhiyan’ (c) Oman
(a) Achieving 100% literacy by
promoting collaboration (d) Kuwait
between voluntary organizations
and government’s education )
86. What is/are the

system and local communities.
advantage/advantages of zero

(b) Connecting institutions of tillage in agriculture?

higher education with local 1. Sowing of wheat is

communities to address possible without

development challenges through burning the residue of
previous crop.

2. Without the need for
nursery of rice saplings,
direct planting of paddy
seeds in the wet soil is

in order to make India a possible.

scientific and technological 3. Carbon sequestration in
the soil is possible.

appropriate technologies.

(c) Strengthening India’s

scientific research institutions

power.

(d) Developing human capital by

allocating special funds for

27
/liasgoogle.com/ [[crackingiasbooks.com/ [/lcrackingias.com/



https://iasgoogle.com/
https://crackingiasbooks.com/
https://crackingias.com/

IAS GOOGLE

Redefining your Google

MONTHLY QUIZ

Led by Raja Sir's Cracking IAS

87.

/liasgoogle.com/

OCTOBER 2022

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 2 and 3 only
(c) 3 only
(d) 1,2 and 3

Which of the
statements best describes the

following

term ‘Scheme for Sustainable
Structuring of  Stressed
Assets (S4A)’.

(@ It is a procedure for
considering ecological costs of
developmental schemes

formulated by the Government.

(b) It is a scheme of RBI for

reworking the financial
structure of big corporate
entities facing genuine
difficulties.

(c) It is a disinvestment plan of

the  Government  regarding
Central Public Sector
Undertakings.

(d) It is an important provision in
‘The Insolvency and Bankruptcy
Code’ recently implemented by

the Government.

88.

89.

[[crackingiasbooks.com/

Right to Privacy is protected
as an intrinsic part of Right to
Life and Personal Liberty.
Which of the following in the
Constitution of India correctly
and appropriately imply the
above statement?

(a) Article 14 and the provisions
under the 42nd Amendment to

the Constitution.

(b) Article 17 and the Directive
Principles of State Policy in Part
IV.

(c) Article 21 and the freedoms
guaranteed in Part III.

(d) Article 24 and the provisions
under the 44th Amendment to

the Constitution.

The Security Council of UN
consists of S permanent
members, and the remaining
10 members are elected by
the General Assembly for a
term of

(@) 1 year
(b) 2 years

(c) 3 years

28
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(d) 5 years 2. Only some cyclones
develop an eye.
3. The temperature inside
90. With reference to the the eye Oof a cyclone is
_ nearly 10°C lesser than
governance of public sector that of the
banking in India, consider the surroundings.
following statements:
1. Capital infusion into
public sector banks by )
the Government of India Which of the statements
has steadily increased given above is/are correct?
in the last decade. (a) 1 only
2. To put the public sector
b) 2 and 3 onl
banks in order, the (b) 2 and 3 only
merger of associate (c) 2 only
banks with the parent (d) 1 and 3 only
State Bank of India has
been affected.
92. In the South Atlantic and
South-Eastern Pacific regions
in tropical latitudes, cyclone
Which of the statements does not originate. What is
given above is/are correct? the reason?
(@) 1 only (a) Sea surface temperatures are
(b) 2 only low
(c) Both 1 and 2 (b) Inter-Tropical Convergence
Zone seldom occurs
(d) Neither 1 nor 2
(c) Coriolis force is too weak
(d) Absence of land in those
91. Consider the following .
regions
statements:
1. Jet streams occur in the
Northern Hemisphere 93. With reference to ‘Initiative for
only.

/liasgoogle.com/

[[crackingiasbooks.com/

29

[/lcrackingias.com/



https://iasgoogle.com/
https://crackingiasbooks.com/
https://crackingias.com/

*DAJASIR’s

Cracking IAS Academy
Since 2005 - Feel The Pulse of UPSC

MONTHLY QUIZ
OCTOBER 2022

IAS GOOGLE

Redefining your Google
Led by Raja Sir's Cracking IAS

/liasgoogle.com/

Nutritional Security through (d) 1,2 and 3
Intensive Millets Promotion’,
which of the following
are used in many household
1. This initiative aims to .
demonstrate the products like mattresses and
improved  production upholstery. Why is there some
and post-harvest concern about their use?
technologies, and to .
demonstrate value 1. They are highly
addition techniques, in resistant to degradation
an integrated manner, in the environment.
with a cluster approach. 2. They are _ able  to
2. Poor, small, marginal accumulate in humans
and tribal farmers have and animals.
a larger stake in this
scheme.
3. An important objective
of the scheme is to Select the correct answer
encourage farmers of ) )
commercial crops to using the code given below:
shift to millet (@) 1 only
cultivation by offering
them free kits of critical (b) 2 only
inputs of nutrients and
micro irrigation (c) Both 1 and 2
equipment. (d) Neither 1 nor 2
95. Which of the following pairs
Select the correct answer .
_ _ is/are correctly matched?
using the code given below:
Spacecr Purpose
(@) 1 only oft
(b) 2 and 3 only
1 Cassini Orbiting
(c) 1 and 2 only - the Venus
Huygen and
transmitti

[[crackingiasbooks.com/
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s ng data to 97.
the Earth
2 Messen Mapping
ger and
investigati
ng the
Mercury
3 Voyager Exploring
1 and 2 the outer
solar
system
Select the correct answer
using the code given below:
(@) 1 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3
96. What is “Terminal High
Altitude Area Defense
(THAAD)”.
(a) An Israeli radar system
(b) India’s indigenous anti-
missile programme
(c) An American anti-missile 08
system .
(d A defence collaboration
between Japan and South
Korea.

[[crackingiasbooks.com/

In India, which of the
following review the
Independent regulators in
sectors like
telecommunications,

insurance, electricity, etc.?

1. Ad Hoc Committees set
up by the Parliament

2. Parliamentary
Department Related
Standing Committees

3. Finance Commission

4. Financial Sector
Legislative Reforms
Commission

5. NITI Aayog

Select the correct answer
using the code given below:
(@) 1 and 2

(b) 1, 3 and 4
(¢) 3,4 and 5

(d) 2 and 5

The term ‘Intended Nationally
Determined Contributions’ is
(@) pledges made by the
European countries to

rehabilitate refugees from the

31
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war-affected Middle East

(b) plan of action outlined by the
countries of the world to combat

climate change

(c) capital contributed by the
member countries in the
establishment of Asian

Infrastructure Investment Bank

(d) plan of action outlined by the
countries of the world regarding

Sustainable Development Goals

If the RBI decides to adopt an
expansionist monetary policy,
which of the following would it
not do?

1. Cut and optimize the
Statutory Liquidity
Ratio

2. Increase the Marginal
Standing Facility Rate

3. Cut the Bank Rate and
Repo Rate

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 2 only

100.

101.

[[crackingiasbooks.com/

(¢) 1 and 3 only

(d)1,2and 3

In the context of Indian
history, the Rakhmabai case
of 1884 revolved around

1. women’s right to gain

education

age of consent

3. restitution of conjugal
rights

N

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d)1,2and 3

At the national level, which
ministry is the nodal agency
to ensure effective
implementation of the
Scheduled Tribes and Other
Traditional Forest Dwellers
(Recognition of Forest Rights)
Act, 20067

(a) Ministry of Environment,

32
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Forest and Climate Change
(b) Ministry of Panchayati Raj
(c) Ministry of Rural
Development

(d) Ministry of Tribal Affairs

With reference to ‘palm oil’,
consider the following

statements:

1. The palm oil tree is
native to Southeast
Asia.

2. The palm oil is a raw
material for some
industries  producing
lipstick and perfumes.

3. The palm oil can be
used to produce
biodiesel.

Which of the statements
given above are correct?
(@) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

Which of the following are the

objectives of ‘National

104.

[[crackingiasbooks.com/

Nutrition Mission’?

1. To create awareness
relating to malnutrition
among pregnant women
and lactating mothers.

2. To reduce the incidence

of anaemia among
young children,
adolescent girls and
women.

3. To promote the
consumption of millets,
coarse cereals and
unpolished rice.

4. To promote the
consumption of poultry
eggs.

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 1, 2 and 3 only
(c) 1, 2 and 4 only

(d) 3 and 4 only

Which of the following are
Right
against Exploitation in the

envisaged by the

Constitution of India?

1. Prohibition of traffic in
human beings and
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forced labour

2. Abolition of
untouchability

3. Protection of the
interests of minorities

4. Prohibition of
employment of children
in factories and mines

Select the correct answer
using the code given below:
(@) 1, 2 and 4 only

(b) 2, 3 and 4 only
(c) 1 and 4 only

(d) 1, 2,3 and 4

Which of the following parties
were established by Dr. B. R.
Ambedkar?

106.

107.

(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d)1,2and 3

What is ‘Greased Lightning-
10 (GL-10)'

(a) Electric plane tested by NASA
(b) Solar-powered two-seater
aircraft designed by Japan

(c) Space observatory launched
by China

(d) Reusable rocket designed by
ISRO

It is possible to produce algae
but what
is/are the likely limitation(s)

based Dbiofuels,

of developing countries in

1. The Peasants and promoting this industry?
Workers Party of India .

2. Al India Scheduled 1. Production of algae
Castes Federation basegl ]OlOfuelS is

3. The Independent possible in seas only

Labour Party

Select the correct answer
using the codes given below:

[[crackingiasbooks.com/

and not on continents.

2. Setting up and
engineering the algae
based biofuel
production requires
high level of expertise/
technology wuntil the
construction is
completed.
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3. Economically viable
production necessitates
the setting up of large
scale facilities which
may raise ecological
and social concerns.

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 2 and 3 only
(c) 3 only

(d) 1,2 and 3

108. What is/are the recent policy
initiative(s)of Government of
India to promote the growth of
manufacturing sector?

1. Setting up of National
Investment and
Manufacturing Zones

2. Providing the benefit of

‘single window
clearance’
3. Establishing the

Technology Acquisition
and Development Fund

Select the correct answer

/liasgoogle.com/

109.

110.

[[crackingiasbooks.com/

using the codes given below:
(@) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

With reference to solar power
production in India, consider
the following statements:

1. India is the third largest
in the world in the
manufacture of silicon
wafers used in
photovoltaic units.

2. The solar power tariffs
are determined by the
Solar Energy
Corporation of India.

Which of the statements
given above is/are correct?
(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following brings
out the ‘Consumer Price Index
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Number for Industrial

Workers’?
(@) The Reserve Bank of India

(b) The Department of Economic
Affairs

(c) The Labour Bureau

(d) The Department of Personnel

and Training

111. Consider the
statements:

following

1. 36% of India’s districts
are classified as
“overexploited” or
“critical” by the Central
Ground Water
Authority (CGWA).

2. CGWA was formed
under the Environment
(Protection) Act.

3. India has the largest
area under
groundwater irrigation
in the world.

Which of the statements
given above is/are correct.
(@) 1 only
(b) 2 and 3 only
(c) 2 only

/liasgoogle.com/

112.

113.
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(d) 1 and 3 only

Which of the following is/are
tributary/tributaries of
Brahmaputra?

1. Dibang
2. Kameng
3. Lohit

Select the correct answer
using the code given below:
(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only

(d)1,2and 3

“The experiment will employ a
trio of spacecraft flying in
formation in the shape of an
equilateral triangle that has
sides one million kilometres
with
between the

long, lasers shining
craft.” The
experiment in question refers
to

(a) Voyager-2

(b) New Horizons
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(c) LISA Pathfinder machinery, etc.
2. Loans received from
(d) Evolved LISA foreign governments
3. Loans and advances
granted to the States
114. In the cities of our country, and Union Territories
which among the following
atmospheric gases are
normally considered in
i ) Select the correct answer
calculating the value of Air . )
) using the code given below:
Quality Index? (a) 1 only
1. Carbon dioxide
2. Carbon monoxide (b) 2 and 3 only
3. Nitrogen dioxide
4. Sulfur dioxide (¢) 1 and 3 only
5. Methane (d) 1,2 and 3
116. Which one of the following
S.elect the correct answer protected areas is wellknown
using thedcgde lglven below: for the conservation of a sub-
(&) 1,2 and 3 only species of the Indian swamp
(b) 2, 3 and 4 only deer (Barasingha) that thrives
45 onl well on hard ground and is
(€)1, 4 and 5 only exclusively graminivorous?
d)1,2,3,4and 5 (a) Kanha National Park
(b) Manas National Park
(c) Mudumalai Wildlife
115. Which of the following is/are Sanctuary
included in the capital budget (d) Tal Chhapar Wildlife
of the Government of India? Sanctuary
1. Expenditure on
acquisition of assets . .
like roads, buildings, 117. Which of the following
37
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statements correct
about the

‘methane hydrate™

is/are
deposits  of

1. Global warming might
trigger the release of
methane gas from these
deposits.

2. Large deposits of
‘methane hydrate’ are
found in Arctic Tundra
and under the sea floor.

3. Methane in atmosphere
oxidizes to  carbon
dioxide after a decade or
two.

Select the correct answer
using the code given below.
(@) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

118. Consider the following:

Carbon monoxide
Methane

Ozone

Sulphur dioxide

Hwn e

/liasgoogle.com/
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Which of the above are
released into atmosphere due
to the
crop/biomass residue?

burning of

(@) 1 and 2 only
(b) 2, 3 and 4 only
(c) 1 and 4 only

(d) 1,2,3 and 4

The Narmada River flows to
the west, while most other
large peninsular rivers flow to
the east. Why?

1. It occupies a linear rift
valley.

2. It flows between the
Vindhyas and  the
Satpuras.

3. The land slopes to the
west from Central India.

Select the correct answer
using the codes given below:
(@) 1 only

(b) 2 and 3
() 1 and 3

(d) None
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120. Consider the
statements in respect of the

following

32nd Summer Olympics:

1. The official motto for
this Olympics is ‘A New
World’.

2. Sport Climbing,
Surfing, Skateboarding,
Karate and Baseball are
included in this
Olympics.

Which of the
statements is/are correct?

above

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

121. For outstanding contribution

to which one of the following
Shanti
Bhatnagar Prize given?

fields is Swarup

(a) Literature
(b) Performing Arts
(c) Science

(d) Social Service

122. Consider the following pairs:

/liasgoogle.com/

123.

124.
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National Park River flowing
through the Park

1. Corbett National Park :
Ganga

2. Kaziranga
Park : Manas

3. Silent Valley National
Park : Kaveri

National

Which of the above pairs
is/are correctly matched?
(@) 1 and 2

(b) 3 only
() 1 and 3

(d) None

Among the following Tiger
Reserves, which one has the
largest area under “Critical
Tiger Habitat”?

(a) Corbett

(b) Ranthambore
(c) Nagarjunasagar-Srisailam

(d) Sundarbans

What are the benefits of
implementing the ‘Integrated
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Watershed
Programme’?

Development

1. Prevention of soil runoff
2. Linking the country’s

perennial rivers with
seasonal rivers

3. Rainwater harvesting
and recharge of

groundwater table
4. Regeneration of natural
vegetation

Select the correct answer
using the code given below:
(@) 1 and 2 only

(b) 2, 3 and 4 only
(¢) 1, 3 and 4 only

(d)1,2,3 and 4

)n the planet earth, most of th
reshwater exists as ice caps an
Out of the
reshwater, the largest proportion

laciers. remainin

1) is found in atmosphere a

a0isture and clouds

d) is found in freshwater lakes an

ivers

>) exists as groundwater

/liasgoogle.com/
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1) exists as soil moisture

The FAO accords the status of
‘Globally
Agricultural Heritage System
(GIAHS)’  to
agricultural systems. What is

Important

traditional

the overall goal of this
initiative?
1. To provide modern
technology, training in
modern farming

methods and financial
support to local
communities of
identified GIAHS so as
to greatly enhance their

agricultural
productivity.

2. To identify and
safeguard eco-friendly
traditional farm
practices and their

associated landscapes,
agricultural biodiversity
and knowledge systems
of the local
communities.

3. To provide Geographical
Indication status to all
the varieties of
agricultural produce in
such identified GIAHS.

Select the correct answer
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using the code given below: statements is/are correct?

1 and 3 onl
(a) 1 and 3 only 1. UN-Habitat has been

(c) 2 and 3 only mandated by the United
(b) 2 only Nations General
(d) 1,2 and 3 Ass.embly to promote
socially and
environmentally
127. Consider the following pairs: sg§ta1nable towns a_nd
cities to provide
Community In  the adequate shelter for all.
sometimes affairs of .
mentioned in 2. Its partners are either
the news governments or local
urban authorities only.
1. Kurd Banglades 3. UN-Habitat contributes

h to the overall objective
of the United Nations
system to reduce

2. Madhesi Nepal
poverty and to promote
access to safe drinking
3. Rohingya Myanmar water and basic
sanitation.
Which of the pairs given
above is/are correctly
matched?
(@) 1 and 2 Select the correct answer
(b) 2 only using the code given below:
(@) 1,2 and 3
(c) 2 and 3
(b) 1 and 3 only
d) 3 onl
() 3 only () 2 and 3 only
(d) 1 only
128. With reference to the role of
UN-Habitat in the United
Nations programme working 129. In India, which of the
towards a Dbetter urban following review the
future, which of  the independent regulators in

41
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sectors 1 ike
telecommunications,
insurance, electricity, etc.?

1. Ad Hoc Committees set
up by the Parliament

2. Parliamentary
Department Related
Standing Committees

3. Finance Commission

4. Financial Sector
Legislative Reforms
Commission

5. NITI Aayog

Select the correct answer
using the code given below:
(@) 1 and 2

(b) 1, 3 and 4
(¢) 3,4 and 5

(d) 2 and 5

Where is "Shaviyani Atoll"?
(a) Maldives

(b) Srilanka
(c) Indonesia

(d) Andaman

The origin of the famous

132.

133.

[[crackingiasbooks.com/

Kanjeevaram silk sarees can
also be traced to the time of
(a) Rajaraja Cholal

(b) Rajendra Chola 1

(c) Mahendravarma Pallava

(d) Vera Pallava

Consider the
statements.

following

1. Chola period bronzes
were created using the lost
wax technique.

2. The ‘Dancing Girl’ from
Mohenjodaro is the earliest
bronze sculpture.

3. Dancing figure of Shiva
as Nataraja was evolved
during Chola period.

(a) Only 1 statement is true.
(b) Only 2 statements are true.
(c) All the 3 statements are true.

(d) None of the statements is

true.

Consider the

statements.

following

1. Many Chola temple

tanks were rainwater

harvesting systems.
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2. Sivaganga Tank was
built by Raja Raja Chola.

3. Brihadisvara Temple at
Gangaikondacholisvaram was
built by Raja Raja Chola I.

(@) Only 1 statement is true.

(b) Only 2 statements are true. .
(c) All the 3 statements are true

(d) None of the statements is

true.

The Cholas are mentioned in

1. Periplus of the
Erythraean Sea

2. Mahavamsa, a Buddhist
text

3. Pillars of Ashoka.
(@) 1 and 2 only

(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

Which of the  following
statements are true regarding
“Jal-Doot”.

1. An mobile application to
monitor the levels of
water pollution in

136.

[[crackingiasbooks.com/

riverbeds.

2. It was launched by
Ministry of Environment
and Forests.

Select the correct answer using
the code given below:

(a) 1 only.
(b) 2 only.
(c) Both 1 and 2.

(d) Neither 1 nor 2.

What is/are the recent policy
initiative(s)of Government of
India to promote the growth of
manufacturing sector?

1. Setting up of National
Investment and
Manufacturing Zones

2. Providing the benefit of
‘single window clearance’

3. Establishing the
Technology Acquisition
and Development Fund

Select the correct answer using
the codes given below:

(@) 1 only
(b) 2 and 3 only

(c) 1 and 3 only
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(d) 1, 2 and 3 2. CGWA was formed under
the Environment
(Protection) Act.

137 3. India has the largest
Kuno national park is located area updqr groundwater
in irrigation in the world.
(a) Madhya Pradesh. Which‘of the statements given

above is/are correct.
b) K taka.
(b) Karnataka (a) 1 only
Mah htra.
(c) Maharashtra (b) 2 and 3 only
d A .
(@) Assam (c) 2 only
(d) 1 and 3 only
138.
Which of the following brings
out the ‘Consumer Price Index 140
Number for Industrial : . .
, Consider the following
Workers’?
statements
(a) The Reserve Bank of India 1. Attorney-General of
(b) The Department of Ir.1d'1a can attend joint
Economic Affairs sitting of the Houses.
2. Attorney-General shall
(c) The Labour Bureau hold office during the
pleasure of the
(d) The  Department of President.
Personnel and Training
which of the above statements
are true
139. (@) 1 only.
Consider the following
statements: (b) 2 only.
1. 36% of India’s districts (c) Both 1 and 2.
are classified as
“overexploited” or (d) Neither 1 nor 2.
“critical” by the Central
Ground Water Authority
(CGWA).

/liasgoogle.com/
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141.
Mahakaleshwar Temple is
located in
(a) Madhya Pradesh.
(b) Gujarat.
(c) Maharashtra.
(d) Uttar Pradesh.
142.
Consider the following
statements
1. The Kushiyara River
forms on the India-Nepal
border
2. The river sharing terms
of Kushiyara River are
covered under the
Mahakali Treaty.
which of the above statements
are true
(@) 1 only.
(b) 2 only.
(c) Both 1 and 2.
(d) Neither 1 nor 2.
143.

Bandhavgarh Tiger Reserve is
located in

(a) Madhya Pradesh.

/liasgoogle.com/
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145.

[[crackingiasbooks.com/

(b) Karnataka.
(c) Maharashtra.

(d) Assam.

Consider the following
statements regarding ‘Mercury’

1. It has the largest volcano
in the solar system.

2. It has two small moons,
****Phobos and Deimos.

which of the above statements
are true

(@) 1 only.
(b) 2 only.
(c) Both 1 and 2.

(d) Neither 1 nor 2.

STEMI programme of India
concerned with heart care is
based on

(a) Hub Spoke Model
(b) Point to Point Model
(c) Central zone model

(d) Debureacratization Model
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146. of the Government of India?
Global Innovation Index
released by 1. Expenditure on
acquisition of assets like
(a) Economist Intelligence Unit. roads, buildings,
machinery, etc.
(b) UNDP. 2. Loans received from
foreign governments
(C():) Wo.rldt.Intellectual Property 3 Loans and advances
rganization. granted to the States and
(d) IMF. Union Territories
Select the correct answer using
the code given below:
147.
In the cities of our country, (a) 1 only
which among the following
atmospheric gases are (b) 2 and 3 only
normally considered in
calculating the value of Air () 1 and 3 only
Quality Index? (d) 1,2 and 3
1. Carbon dioxide
2. Carbon monoxide
3. Nitrogen dioxide 149.
4. Sulfur dioxide With reference to Pradhan
5. Methane Mantri Kaushal Vikas Yojana,
consider the following
Select the correct answer using statements:
the code given below:
1. It is the flagship scheme
(@) 1, 2 and 3 only of the Ministry of Labour
and Employment.
(b) 2, 3 and 4 only 2. It, among other things,
will also impart training
() 1, 4 and 5 only in soft skills,
1 4 entrepreneurship, and
@1,2,3,4and5 financial and digital
literacy.
3. It aims to align the
148. . _ . competencies of the
Which of the fOHOWlng IS/are unregulated workforce of
included in the capital budget the country to the
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National Skill
Qualification
Framework.

Which of the statements given
above is/are correct?

(@) 1 and 3 only
(b) 2 only
(c) 2 and 3 only

(d1,2and 3

Which one of the following

[[crackingiasbooks.com/

protected areas is wellknown
for the conservation of a sub-
species of the Indian swamp
deer (Barasingha) that thrives
well on hard ground and is
exclusively graminivorous?

(a) Kanha National Park

(b) Manas National Park

(c) Mudumalai Wildlife
Sanctuary
(d) Tal Chhapar Wildlife
Sanctuary
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1. d 23. d 45. b 67. b 89. b 111. b 133. ¢
2. b 24. a 46. d 68. ¢ 90. b 112. d 134. d
3. b 25. ¢ 47. a 69. b 91. ¢ 113. d 135. d
4. c 26. ¢ 48. a 70. d 92. b 114. b 136. d
5. b 27. a 49. ¢ 71. b 93. ¢ 115. d 137. a
0. b 28. ¢ 50. a 72. ¢ 94. ¢ 116. a 138. ¢
7. d 29. b 51. ¢ 73. ¢ 95. b 117. d 139. b
8. c 30. b 52. a 74. b 96. ¢ 118. d 140. ¢
9. b 31. d 53. ¢ 75. a 97. a 119. a 141. a
10. ¢ 32. d 54. d 76. b 98. b 120. b 142. d
11. b 33. a 55. b 77. d 99. b 121. ¢ 143. a
12. b 34. b 56. b 78. d 100. b 122. d 144. d
13. b 35. ¢ 57. a 79. b 101. d 123. ¢ 145. a
14 b 36. a 58. a 80. d 102. b 124. ¢ 146. c¢
15. d 37. ¢ 59. a 81. d 103. a 125. ¢ 147. b
16. d 38. b 60. b 82. b 104. c 126. c 148. d
17. b 39. b 61. a 83. a 105. b 127. ¢ 149. c
18. ¢ 40. d 62. a 84. a 106. a 128. b 150. a
19. a 41. b 63. d 85. a 107. b 129. a
20. b 42. b 64. d 86. d 108. d 130. a
21. b 43. ¢ 65. b 87. b 109. d 131. a
22. ¢ 44. ¢ 66. b 88. ¢ 110. ¢ 132. ¢
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